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oy, G R X R™ — RY...
0 € V() + Ny (2)

Replace the last sentence with:
"Finally, in the last case we have g;,(z*, y*) = 0, A;, = 0, which implies

(V)‘;‘kogio (x*v y*))TS -
= )‘:O(Vgio(w*v y*))T(Sla R 3m+n> + gio(l’*, y*>5m+n+io =0

for every s € R"™™™*P_ Since iq was chosen arbitrarily, we have

V}\*Tg(x*’ y*)T — 0,
hence the linear independence condition of the MFCQ is violated in
(.T*, y*7A*).n
An original modification of the proof for the following theorem is presented.
..(z', y') is the local optimal solution...

Replace "y geq0” with "y > 0.

...variables Z such that E|Z]P < oo by L,...



